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General Instructions/ I forder
1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, Faculty

and Name of the Subject on the OMR Answer Sheet in the space Provided. Put Your Full
Signature on the OMR Answer Sheet in the space Provided.
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2. There are 40 Multiple Choice Questions in all.

BA 40 ITg-Tamed=r ueel

3. All questions are Compulsory. Each question carries 1 mark.

At ueer siferard €1 URe Uee 1 3k dHI B

4. Four Options are given for each question. Choose the most suitable option and indicate
it by blackening the appropriate circle [@] in the OMR Answer Sheet given separately. Use
only Blue/Black Ball-Point Pen. The use of Pencil is not allowed.
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5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator.
You are allowed to take the question paper with you.
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Adhere to the instructions above very carefully otherwise your OMR

Answer Sheet will be invalid and will not be evaluated.
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IfA={1,23,4}and B={0, 2,4, 6} Then AuB will be.
e A=1{1,2,3,4} TNB={0,2,4,6}d AuB BT
(1) {1,2,3,4} 2) {1,2,4} (3){1,2,3,4,6} 4){0,1,2,3,4, 6}
For two sets A and B, An(AuU B)is equal to
1 Yol AT BH AN(AUB) =
(HA (2) B 3) @ 4) (AuB)
LetA={x y z/and B= {1, 2}.
Find the number of relations from A in to B.
A9 oifoTT fh A = {x, y, 2 3IRB = {1, 2}.
AN B Rl B e §d BN |
(1) 64 (2)32 (3)6 4)8
If (x + 2, 4)= (5, 2x + y) then find x and y
IS (x + 2, 4)= (5, 2x +y) AT x AR y AT DIV
(Hx=3y=-2 @)x=3y=4 QB)x=-3 y=7 @ x=0 y=0

2
It £(x) :i’;“ . Then find f(-2)

afe f(x)=% @ f(-2) 31 BT

(1) 10 @) _TH (3)0 ) %

Iff, g ; R — Rdefined by f{x) = x> — 1 and g(x) = x +4 respectively then find f + g(x) = ?
IS £ g; R— RS 991 TR IRINT B fix) = 2% — 1 T g(x) = x +4 TV f+ g(x) = 2 A
DI |

(1) 2x+2 (2) ¥ +x-3 3) x @) 2 +x
Find radian measure of 40° 20'.
40° 20' T AT A9 1T BT |

T -4 121z T
2 2) % 3) =~ 4 Z
()12 ()5 ()540 ()180

If tan@ = % and @lie in 3" quadrant. Then find the value of sin 8 —cos 6.

DI tanﬁzﬁ?:ﬁ'\’ eqﬁumﬁ%aﬁ sin @—cos @ ®T A ST B |



10.

11.

12.

13.

14.

15.

16.

17.

18.

7 7 25 17
1) — 2) — 3) == 4) —~
()24 ()25 ()24 ()25
Find the value of sin 15°

sin 15° @1 A9 ST BITT |

J3+1 J3-1 1
(1) el (2) EYi 3) PN

cos7x+cosS5x

@0

The value of — .
sin 7x—sinSx

Tx+
c9s X CF)SSXWWm_”
sin7x—sinSx

(1) tan x (2) cot x 3) sinx (4) cos x
The general solution of equation tan @ = cot &

THBYT tan @ = cot o BT ATID & AT DI |
(1)9:n7r+%—a Q) 6=nr+a (3)e=m+§+a 4) 6=«

Find the principal solution of the equation tan x = V3.

TR tan x = /3 B G &l FI DI |

V4 V4 V4
1) = 2) — 3) — 4) 0
(1) o 2) 3 3) 1 “4)
Find multiplicative Inverse of -3 +4i
-3 +4i BT TOMHS Al A ST |
3 2 3 3 4 3

2 4
1y 233 ) 2.3 3 -4, g L3,
M 7-i7 @) 53 3 %725 @) 525"

Find the modulus of 2 —iv2

J2—iyJ2 1 S S BN |

(1) -2 2) 2 (3) 2+i 4 2
Find all the roots of the equation x* —5x+6=0

XX —5x+6=0, FHIG & Gl el DI ST DI |

(12,4 2)2,3 (3) 1,2 “4) 2,5
Solve 37- (3x + 5) >9x -8 (x + 3)

T B 37-Bx + 5) 29x -8 (x + 3)

(1) x<2 (2) (=, 2) (3) (—o0,14] 4 1,0
[20

Compute —lﬁ 50-18
[1820-18

(1) 120 (2) 130 (3) 190 (4) 1100

How many numbers between 100 and 1000 can be formed by the digits 1, 2, 3, 4, 5, 6, 8 no.
digit being repeated?

1,2,3,4,5,6,83® ¥ 100 3R 1000 $ 19 fha-l TN g8 O Tl & b Bl 3



19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

@I QRGN T8I el &°

(1) 210 (2) 120 (3) 410 7
If ne, = ne, then find ng

g Mg, =N, ar ne 94 BHIFY |

(1) 1 2)0 (3) -4 (4) None of these (38 ¥ B3 T2I)

A bag contains 5 black and 6 red balls. Deremaine the number of ways in which 2 black and

3 balls can be selected.

% Il § 5 Blell 3R 6 oIl T 8| 2 Blell qAT 3 AT Wl & IIT b cNId] Bl Gl

feriRa BTy |

(1) 200 2) 210 (3) 420 (4) None of these (31 ¥ @13 7T8)
Find the Co-efficients of x° y’ in the expansion of (x+2y)’

(x+2y)9$ TR A x° y* @1 IS Frd DI |

(1) 972 2) 9, 2 3) 9, 4) 152

. . . 15
Find the total number of terms in the expansion of (1+ 3x+3x7 + x3) .

(143x+3x° +x°) & IR # qof et o W 9 PR

(1)45 (2) 44 (3) 46 (4) 36
How many terms are in AP 20, 25, 30, ............. 100

AR 41071 20, 25,30, ... 100 ¥ febee Ug &?

(1) 17 (2) 16 3) 12 “4) 10

Find the arithmetic mean between 8 and 12.

8 3R 12 & 919 TP FHIGR WY T DI |

(Ho 2) 10 3) 4 4) 6

If p™ term of an A.P. is q and the q™ term is p. Find the first term of an A.P.
I TH AP, FT pdl UG q T qaf U< p &, I UM US AP &I et |

1o 2 q 3 p 4 p+q-1

Find the sum of first n term of a G.P. 1+%+i+é+ ........... .

oIRR Syl 1+%+i+%+ ........... D YT 1S BT T ApIfery |

1 1 1
+1 3) 2(1- 4) 1-—
> 3 20-2) @ 1-=

(M o @)
For what value of x the numbers x — 2, x, x + 3 are in G.P.

x® o 99 @ fou @& x -2, x, x+3‘1”ﬂ?‘l'\’%i'0ﬁﬁ%\’l

(1 3 (2 4 (3) 6 4 5

If 3x—4y+7=0and ax+ 2y + 1 =0 are perpendicular then ‘a’ equal to.



29.

30.

31.

32.

33.

34.

35.

36.

I Bx—4y+7=0TMMax+2y + 1 = 0 WER dRAq 8 Al ‘o’ is BT A AT DI |

(1) 4 2 5 3) % “4) 8

Find the equation of the straight line which passes through the point (4, 3) and parallel

to the line 3x +4y = 7 is.

9 WA X G FHBRO S DI S a5 (4, 3) | Sl & A XN 3x +4y = 7 B

TR B
(1) 3x+4y=10 (2) 3x+4y—-24=0 (3) 3x+4y—-20=0 (4) 4x+3y+24=0

Find the length of perpendicular from the point (2, -3) to the line 4x + 3y +16 = 0

f475 (2, -3)8 WA XN 4x + 3y +16 = OR Wi T a9 I g Fapre |

(13 20 (3) 4 4 5
Find the radius of the circle x*+y* -8x—4y-5=0.
T x>+  —8x—4y—5=0 AT (Tl |
(1)4 2) 3 3) 5 “4) 6
Find the axis of the parabola x* =-16y .
WA x> =—16y BT 4T AT |
(1) x=0 2) y=0 (3) x=4 4) x+y=0
Find eccentricity of the ellipse 4x*+9y” =36
UG 4x° +9y* =36 Ichadl ST I |
5

08 5
(3 @ = 3) 3 4)6

Find the distance between the points (4, 3, -6) and (-2, 1, -3).
a5 (4,3, -6) TAT (-2, 1,-3) & d/a B I Ml |
(7 2) 9 3) 11 4) 10

Lim 1+x-1

x—0 X

Evaluate

ST BT Lim 1+x-1

x—0 X

1 1 1
1 -1 @ 3 @) 7 @ 7

If y = x cosx find &
dx

aﬁy=xc0sx,?ﬁ % TP |
X

(1) xsinx 2)cosx—xsinx @) xsinx+x 4) cos x



37.

38.

39.

40.

If fix) = x> —9x+20then find f'(x).
IS fix) = X —9x+20 A f'(x) @It |
(1) 2x + 20 (2)2x-9 (3) 20 (4) 9x +20
If E is impossible event, then P(E)="7.

I E®Ig 3RWa geT & @l P(E)=?

(1) 0 (2) 4 (3) 16 4) 2

IfP(A)z% : P(B):g and p(AmB):% then find p(AU B)

aﬁp(A):%, P(B):gﬂ%ﬂ p(AmB):%?‘ﬁ p(AUB) T |

2 4 4 14
(1 3 (2) 3 Q) 5 4) “

Find the standard deviation of the first # natural numbers.

Y n WG SNl &1 /e fd@el e |

n*+1 n* -1 n+l
(D D (2) \/ D (3) n 4) 1




ANSWER SHEET
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12
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